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% A % H
¥ H T HIREE (ANRAFEE (B) (B)/(A) (%) |HEHE (%) B H T EIREE (CYZHHi%%EE (D) (D)/(C) (%) | HERLE (%)
1 i) 5,832 5,863 100.5 35.9 13 = = 206 199 96.6 1.2
2 A E 5 & 213 216 101.4 1.3 2 & % & 3,034 2,567 84.6 16.3
I F OB X M £ 18 17 94.4 0.1 3 R 4 = 4,106 3,989 97.2 25.3
4 & B X &£ 5 5 100.0 0.0 4 1 o & 1,947 1,910 98.1 12.1
5 A FEREFTRIXRFE 3 3 0.0 0.0 SEMKERE 612 596 97.4 3.8
6 AFEHERIXMTE 419 429 102.4 2.6 6 & T & 329 324 98.5 2.0
71 L7 M BARX MG 10 12 120.0 0.1 7 VN = 1,221 1,090 89.3 6.9
SEEREHRXTE 50 55 110.0 0.4 8 H ;] = 912 884 96.9 5.6
oMth A 4 Hl X F & 82 82 100.0 05 9 % B & 1,524 1,211 79.5 7.7
o# A X fF 3,008 3,053 101.5 187 |10 K F & B & 32 32 100.0 0.2
N XBRERNEFEIX T2 6 5 83.3 00| |11 4 & = 2,545 2,507 98.5 15.9
2a#EERUVAESE 143 142 99.3 09| |12 X H = 474 472 99.6 3.0
BEAMARUTFHH 424 432 101.9 27| |13 ¥ i = 2 0 0.0 0.0
ME E X H £ 2,811 2,289 81.4 14.0
15 & * H £ 895 883 98.7 5.4
16 Bt I3 )} A 23 34 1478 0.2
17 # A ® 0 0 0.0 0.0
18 #& i & 153 150 98.0 0.9
19 IR A 534 534 100.0 33
20 T & 480 478 99.6 2.9
21 & B s 1,835 1,640 0.0 10.1
m A & &t 16,944 16,322 96.3 100.0 A F 16,944 15,781 93.1 100.0
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# 8 FEREN | RE#Ee |RARe/we| HEREo "B B & B = B m I %
1 E i 2,238 2,255 100.8 385 1 A s g 3,481 220
2 E & E M 2,972 2,988 100.5 51.0 2 ¥ # =1 1,889 12.0
3% B ¥ H & 92 91 98.9 1.5 J M B E BB 109 0.7
4 1 = ¥ 2 W 307 306 99.7 5.2 4 % Bl & 2,066 13.1
5 A 7 b37] 29 29 100.0 0.5 5% B B % 2,109 13.4
6 # ™ F B 194 194 100.0 3.3 6% & M B & 1,040 6.6
&5t (1~6) 5,832 5,863 100.5 100.0 () TBREREXE 1,008 6.4
X BERBRERS 1,230 1,208 98.2 100.0 Ok; Bh 143 0.9
Q@ B piA 722 46
O mHEDEIEERUVIHBXHEE (BfL:FH) @F D i 143 0.9
FER1IAZYOTIHAEE 125 (2) KEEIHEXE 32 0.2
—tHLYDOHHREIEEE 334 VAN & & 2,507 15.9
FERIAZYOB B 15 335 8 & kv & 468 3.0
—HHHYDMBZ L EE 898 9 H = & 112 0.7
10 8 F & 319 20
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ERBRERKRK S 5,123 5,190 4912 101.3 95.9
XK B ¥ B B 9 9 9 100.0 100.0
% A (£ yicd 34 34 34 100.0 100.0
N H T KESE ¥ 423 428 418 101.2 98.8
BEEEFEHKEXE 47 47 45 100.0 95.7
TR K EE 2,930 2,937 2,882 100.2 98.4
% HE EEER 376 373 373 99.2 99.2
& &t 8,942 9,018 8,673 100.8 97.0
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Iy E X I # 991 220 2,508 3,719 Iz ® X N #&® 991 220 2,508 3,719
I X EOX N IR &% 5 1 283 289 8 | =0 ) N ) 53 5 1 283 289
& 996 221 2,791 4,008 it (a) 996 221 2,791 4,008
% 2 X & H 787 180 2,892 3,859 & E X & H 787 180 2,892 3,859
X|lw x5 B R 107 31 95 233| |5t |H | £ o & R 107 31 95 233
B w4 B 8 % 1 0 1 2| | & ¥R 8B % 1 0 1 2
&t 895 211 2,988 4004| | &t (b) 895 211 2,988 4,094
= = R 19 0 22 157 LEAMEFI 2R (a) — (b) 101 10 A 197 A 86

E E # B & 18 0 0 18
I —RFHEES 2 0 142 144 - B T & E 9,512 1,895 1,350 12,757
" I =8 8% 1 0 0 | || woB B OE 409 633 489 1,531
Muezamme 3 0 2 2| |2la 2 » = 0 0 7 7
IEIE%?%%EHH’C 0 0 0 o| | i H 9,921 2,528 1,913 14,362
* H 159 0 190 M| | EIE E OB & 46 50 645 741
" B R R E 221 10 47 278| | gg 1_5 RO A & 31 9 760 800
% tEXBEEESE 322 25 142 489 i & N 4 6,346 1,215 2,798 10,359
—RfEARESR 0 0 0 0 E. EN & 3,498 1,254 A 2,290 2,462
H z ) fth 0 0 1 1 B i 9,921 2,528 1,913 14,362
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